4 (Sem-2) FACT
2016

COMMERCE
Paper : 202
( Financial Accountlgg—ll )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
| OoTS frT 2RI e e e fae

(a) Discount allowed to debtors is not
shown in Branch Account:
( State whether the statement is

True or False)
1 Rorere e i 18T crged v |
( ©= IR % A =RoF forar )

(b) Revenue arising from = sale of old
furniture is not recognized as income as
per AS-9.

( State whether the statement is
True or False )
[/ vnmna'ﬁdﬁ R e IR ww P

As-9 wo Tigfd fm 7w 1
( & IR0 BT @ T B )
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S
(c) Depreciation Accounting as per AS-6
does not deal with

AS-6 WO TTHIY RO QR T

(i} goodwll~ ¥+ R TAME
RS

(i) livestock
954 5§90

(i) mineral.

(iv) All of the a.bove
G SRCAICO
( Choose the correct answer )

ot (0w v TR v )

(d) 'In branch accounting, the excess of
selling price over wholesale price is
considered as the profit of

('Fill in the blank )

M R ARER T RS RE wR
ARE _a e I 1w I
(AR o)
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(e} Cash sent by the Branch not received by
the HO is debited to A/c by the

year-end.

., (Fillin the blank )

“mrii RGN AW Y0 FREICE Aoice
I ere ___ Rorre ok w91 = |

( 41 31X o7 1)

() Goodwill is an asset which can be
disposed off only in the event of the
business being sold as a going concern.

_ ( State whether the statement is
' True or False )

TR T B TR IF @B IS o
 Torer e Reweer RE sReeez 170 o onf |
(’wmwmwmﬁm)

(99 What is Departmental Accounting?
R Reret R 2

() Section 39 of the Indian Partnership
Act, 1932 relates to
1932 w4 SROW WAMS AR 39 Al
wbe Rwchi ' <
(i) admission of partners

SRR TS

(i) insolvency of partners
SRR oA
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(i) treatment of goodwill
R Rt 9

(iv) "dissolutiop of partnership firms
SR T R

( Choose the correct answer )

(o Teh! AR Thear )

(i) When an unrecorded asset is taken over
by a partner, realization account is
credited.

( State whether the statement is
True or False )

‘ cfem «br REERIT 7S @& wefivg
0R I, T [ wHEFRT B @RS
A

( 'T& IR BT T wRyT o )

() What is sliding scale method of
valuation of goodwill? '

S Ao R G oS [ 2
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2. Answer the following questions in brief :

wﬁmm«w@?ﬁm:

(a)

)

()

(@)

Al6/682

(5)

Name two items of inventories which are
outside the scope of AS-2.

Asrzswsﬁvmmiﬁrﬁ@mm
TEy !

Why is Branch Adjustment A/c
prepared?

wwﬁmﬁnmwa?

State two basic differences of Branch
Accounting and Departmental
Accounting. '

Wﬁﬁﬁmﬁﬂﬁﬁﬁﬂﬂm.w@{ﬁ
N oy T

When all partners become insolvent,

what will be the treatment of ‘unpaid
balance’ in Creditors A/c?
AR SRR WA (R =, (efew

MR FBorre s Tge'y st qm
2'3?
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( 6)

(e) "How is interdepartmental transfer at
cost price recorded?

_mww*ﬁ‘rﬁ’nwmaﬁ—@
M

3. Answer any four of the following questions :

5x4=20
wﬁmmwﬁ@msﬁ%ﬁwm-

(a) Give a brief note on AS-10 on valuat:lon
of fixed assets.

e srms—mamﬁﬁ“ﬂﬁzww S
aﬁs&cﬂmﬁml' :

(b) State how the comphancc ot‘ Accounting
_Standards in India is ensured

sRee R TWERR TR AR o
_ma,waﬁW|

(¢) Guwahati Branch of Kolkata HO does
not maintain its own books. Pass
necessary Journal Entries in the books
of Kolkata HO for the following
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. transactions effected; during,.the year

.assuming. books are: kept under Stock
..~ and, Debtors system :

L,

' 'Wwwmmmﬁm

(@

A16/682

Roret et | 3 FrfeER AR Ao ToE
F (MR &S Y 4R I[Be T

-1 &7 i e ST aifdfe fa

_ ' ¥ @)
Goods sent to Branch - 30,000
A T (2R
Goods received by Branch 25,000
IR e T :
Cash remitted by Branch t5'the HO 40,000
R Y Frfemmee T5m & R
Cash received by HO  « 32,000
T IR NG 790

KGR runs a :chemist shop. . His net
assets on 31st March, 2016, amounted
to ¥20,00,000. After paying rent of
¥ 15,000 a year to the landlord (who is
also an employee in the shop) for
premises valued at ¥ 1,00,000, salary of
¥20,000 to the chemist, he earns a

( Turn Over )



(8)

profit of ¥1,50,000. His landlord, who
incidentally is the chemist of the shop is
keen to purchase the shop. 12% is
considered to be a reasonable return on
capital . employed for this type of
business.

What can KGR expect as payment for
goodwill? Make any reasonable
assuptions, if necessary.

KGRE ¢ 99 R® wai3 wr | ody
31 W6, 2016 M SRl IJ/OR oFS
=i« M9 20,00,000 591 | ¥1 NIRRT
1,00,000 391 TR R $[S IWOR W
el 15,000 5391 (R RoAeR qom foidte)
wF @YY % FHIPERE 20,000 B3 wwE
flir e @R T© TURE
1,50,000 %311 ©€3 1 Tfew, Rew
e Refem wrfiftRe, ReMm Rfes
R T @ PR IR IR [
RRarR ewe T Toe 21 lz%{ﬁ
Resa Fa g9 |

SRR IR% KGRA R o 3 wmnt 3R3 o 2
TR PR W A SIS IS |
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(9)

From the following information,
calculate absolute surplus capital :
oo il SUITR RT 53N AR R AR
ST P '
() Balance of partners capital as per
last Balance Sheet : -

¥ 5
A 80,000
B 50,000

9]
)
o
8
=)

- (i) Profit & Loss A/c:(Cr.) as per last

Balance Sheet— 24,000
TR FOR BFE-I WS AS-CAOH
1R (@) ©78—24,000 B

(iii) Profit-sharing ratio—3:2:1
-RAR SPe—3 :2: 1

Explain the features of Independent
Branch. Is a Foreign Branch an

Independent Branch?

- A16/682

wog XA CARBPR IR M1 AR
51 TSR XM ?
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4. Answer the following questinns .~ 10x4=40
w ﬁm emma T ﬁqr '
(a) Explam the procedure to be followed for
1ssu1ng IFRS by the IASB 10
" IASB-3 WA (IFRS ﬁﬁw« ﬁﬁﬂl’l’{i
- HTCEo] 911 . .
Or/ WW

Explaizi_bricﬂy the requirements of the
Accounting Standard-1 (AS-1) for
disclosure of accounting policies. 10

faprR TRTR 2P TR A ROPR TH-1
(AS-1) SRIFSPRE I 341 |

(b) A company having its HO at Guwahati
has a Branch at Tinsukia. The Branch
receives all goods from HO who also
remits cash for all expenses. Sales are
made by the Branch on credit as well as
for cash.

gIPoIe T IEEN 4R GO @R
RpPrS @1 M SR MR TO PR
1 SR ATG] BIE TS I AT 7917 Gy
M R ATETIR mﬁ UE IS
R& 33 '
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Total sales made by the Branch for the
year ending 31lst  March, 2016
amounted to ¥5,75,000 out of which
20% is cash sales. The following further
information is available”:

31 W, 2015@%@:‘6&%@%
¥ R& =@ 5,75,000 591, FWA foewe

20% W RE oo W Rggm o fm

2q :
| ¢ o
Stock ‘on'01.04.2015 © 85,000
TGS AT 01.04.2015 WIS+
Debtors on 01.04.2015 80,000
R 01.04.2015 ©IRY® o
Petty cash on 01.04.2015 s 1,200
- 41 7T 01.04.2015 RIS .
Remittances to Branch : ;'
- WTICe M 4 R
For Salary’ S 30,000
For Rent e 10,000
TRSIT AW
For Petty Cash , 4,800
<1 7907 IRW :
Petty expenses incurred by Branch .- 4,000
wT4iE 4 P /R '
{ Turn Over )



s

A16/682

(12)

¢ @)
Cash received from Debtors 4,80,000
CPIIR 41 201 ol 4 ' '
Bad Debts wntten off 500
SERAY 4
Nﬁr@nal loss of goods at Branch 200
TS AT TR o=
‘Stock on 31.03.2016 36,000
YO 7 31.03.2016 ORYS

All sales are made by Branch at cost
plus 25%.

T4z STRAPTR T SR 25% @ i R
SR |

Prepare Tinsukia Branch A/c . in the
books of HO for the year ended
31st March, 2016. 10

31. 6, 2016 mwmmw
e IR M Rorer oS 740 1

Mr. Rahul Bajaj carries on his business
through two departments—Deptt. A and
Deptt. B. Following are the extracts of
his Trial Balance as on 31st December,
2015 :

ﬁ.wwiﬁﬁmﬁ—ﬁmﬁxw
Re B3 sRwe O W Wl |
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faftRe ez @d7 31 fews, 2015

OIRR] TFE fe-oda9 o[l |1 T4 :
ST | e &)
Opening Stock : . Purchases Returns : '
RSN THI AV : Y R |
A 12,000 A 4,000
B 6,000 B 3,000
Purchase : . Sales Returns :
= RefRe:
A 24,000 A 2,000
B 20,000 B 1,400
Sales : Salaries 12,000
R& : LT L]
A 40,000 Advertisement 3,600
B - 34,000 RereE
Bad Debts 1,200 Depreciation 2,700
SRR 4 -

Additional Information :

wRRe e :

(i) Stock as on 31.12.2015
31.12.2015 © SRR 15O %40

)]
A 8,000
B 11,000
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(ii) The unallecated expenses are to be

charged to

.each department in

proportion to the cost of goods sold
Rer Pr Twe Rewd @ [ewr
st Rerr e A& @ WR @
TR SPes Read 11 29 '

Prepare Departmental Trading and
Profit & Loss A/c for the year ended
31st December, 2015. 10
31 R, 2015 0 SRR I[DBR MR
FI-RET I AS-GToH Rt orge 21 1

A, B and C are partners in a firm
sharing profits in the ratio 3 : 2 : 1 with
the following assets and liabilities :

A, BYF C 43 I 3: 2 : 1 SIS /s
el M | (OSERR TS e

CTATTE, 9o (Rl 4R SIfRe :
Liabilities ¢ Assets 4
ol Bl 5. offd B
Capitals : Sundry Assets 30,000
‘F{‘ﬂ . Ry ’1"’1%
A 20,000 Profit-& Loss A/c 18,000
B 12,000 IFS-CTROR 1ot
Reserve 6,000 C's Capital 2,000
i CI T
Creditors . ' 12,000
A SAMR -
50,000 50,000

Al6/682
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Assets realized ¥ 18,500 and expenses
of realization amounted to ¥500. C
became insolvent and his estate paid
50% of his debt. Close the books of the
firm applying Garner vs. Murray rule. 10
wmEee TR} R 18,500 I R
HMEFIR ¥{E 500 591 | C (TR T WP
o7 e TR [ s 50% S
Il A | R I A A g IR

T ot 3% TR et
Or / &A1

Describe the procedure of determining
the purchase consideration in case a
partnership firm is sold to a company.
Also state the Journal Entries to be
passed in the books of the partnership
firm in such a sale. 4+6=10
<1 A T @1 @it RE zdee
e fee RiSw -mfoomz 399 =11 e
PR e MR PRI XS IR A

T aARkirRs o

% & &
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